Geometry H Name : Kﬂ:l]

Extra Midterm Review Date : Period :

1. If M is the midpoint of segment DE, DM = x* —4x—24, and EM =2x+ 3, please find DE.
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2. PT has endpoint P(8, 0) and midpoint M(6, -5). Find the coordinates for endpoint T. A

*W - 10+~ e e B b
M: X‘+X2 Mlg*\j = 552 e R _..._..__.8__.__ _:: =
-0 "T? S N
R : il A _4 —
b i S5 T(4-10) EE HEET
N |7 —— T 1 I
e 018 642 [ 2 4 16 l810
8”\,\\) _\“: 0_"\51 ﬂz ] 1l
X7y [T —~4 '
e 0 AR
Ll !
_ .:.._ﬂ _:B.__
3. Solve forx,y, and z. 1 1p ¢
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4. Given Ej is an angle bisector for ZABC, and ﬁf is an angle bisector for ZEFG . Solve for x and y if
mZABD =0.2y ~0.5x , m£ABC =116°, mZEFH=(172+x)°, and m£HFG =6y°.
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5. Please find the values of x and y that makes allb. Justify why allb using the appropriate
theorem/postulate,
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6. Given:/||m. Please solve for x.
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7. ZAand ZBare complementary angles. ZC and ZD are supplementary angles. Find the measures

of the four angles, if mZA=2x°, m4£B =6y°, mZC =(6x+y)°, and méD=(4x+2y)° meA = 2015) = 30°
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8. An angle is 275 less than four times its complement. Find the measure of the angle and its
complement. =

The ongie =11°

%= 440 1) -a19 s omplement T3¢

X 360 -% - 316
h=gp > A=1d
9. Two times the complement of an angle is 300 less than three times its supplement. What is the
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10. Point T is between points A and L. If AT =x’4+2x-2, TL=x—-2,and AL=24, find AT, and TL.
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11. BD bisects ZABE. BAand BC are opposite rays. If mZEBC =(2x* + x +100)° and

mZABD =(x* +2x +37)°, please solve for .
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12. Write the equation of the line that is perpendicular to the line y =Ex+7 that passes through the
point (-3, 4). \A:mx*b
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13. Three times an angle’s complement is equal to half of its supplement. Find the angle.
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14. Write the equation of the line that passes through (3, 5) and is parallel to the line that passes
through (3, 3) and (-3, -1). ) o -6 5 Uzmntb
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15. Given /||m, m/£3=(4s-3t)°,m£7 =(9s+12t)°, and m£4 =(5s+6t)°, please solve for s and t.
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16. Given p||t, m£3=(x* ~2x)° and m£6 =(3x +108)°, please solve for x.
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17. Please classify AABC by its side lengths. Then determine if the triangle is a right

triangle given coordinates A(2, 3), B(4, 7), C(6, 1).
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18. Please find the measure of the exterior angle shown.
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19. In AABC, mZAis twice m/B,and mZC is 8 more than m£B. What is the measure of each angle?
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20. Please solve forx and y.
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21. If m£PST = (x+3y)°, MLRPS =45° 4 /PRS =2y°, and MLPSR=5x° | fing m£LPST.
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22. Using the diagram below, find the value of x.
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24. Given: ZEDC = /DEF
/FBC = /FCB Statements Reasons
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26. Dilate AABC by a scale factor of % using (2, 4) as the center of dilation given

points A(-8, 2), B(-2, 2), and C(-4, -4).
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